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We are 972u» him with the consent of 7''72, because it is beneficial

OVERVIEW

X137 21 ruled that a 7™2 of three can be %2vn and 7”3 a minor, because it is
beneficial for the prospective 71 to become a Jew. md0n discusses how this N7
can be effective.

nooIn asks:
= DY N TIAPT 21N IN 1Y NXIN MY 1197 MNHY DYLN NN 145991 N D10

And it is astounding! For 1721 is effective because of the rules of nmhw,
meaning that since it is beneficial for him, we can testify that the 737 (would

have) appointed the 7572 to be a 79w for this n21. MdOIN proves that 77°37 is MY DywA -
- *mnsywn Y93 NI INIININ T2 DIVM 980 23D (8,20 91 ZN)”S): N22T NP 7992 NIIINNTI

As is evident® in the first 775 of "2 noon regarding the statement, the ‘yard’
was included on account of the ‘hand’, but the yard is no less than nmmbw’ -

oot (or acquiring) refers to the act where one (the 'm°%0") can acquire something on behalf of a recipient (;1217) if it
is beneficial for the 7217 to acquire it. For instance if 2% wants to grant 1'Wnw property, but 1Ww»w is not present;
1287 can write a 71nn WY to 1AW, and give it to "7 that he should acquire this property on behalf of pwnw. The rule
is that 1Wwnw acquires the property (as soon as "7 receives the 70w), even though 1%Wnw has no knowledge of this gift
and certainly did not appoint "7 to act on his behalf. Nevertheless since it is beneficial (a n21) for NYnw to acquire
this property, it is assumed (>7770 72X) that 17Wnw agrees that »2 should be his agent (m°%w) to acquire the property for
him. Similarly here since it is a M27 for this jop to become a Jew, even though he is not aware of it and has no mind
of his own to consent to this M3 (since he is a Jvp), nevertheless we acquire this N7 for him (by being *av» and
21 him) on his behalf since it is a M2 for him.
% The X3 there (on 2,°) derives (from the word 7> [either from (X,7> [XXN] 2°727) 77°2 101 by 03 or from 17°2 RX1N
(5,20 [ovown] Mnw) by n2°13]) that the 1% (property) of a person can acquire objects for him; if a gift or a v3 is
placed in the 7xn (of the recipient), the recipient and the woman acquire the gift and the 03 respectively. There is a
difference however between a 03 and a 711n»; regarding a vi the woman must be staying beside the 7% to acquire the
03 (unless she specifies that her 7xn should acquire the v3 for her), however by a gift the recipient need not be near
the 77 (if it is a guarded 1x17). See the following footnote (# 3) for the reason of this distinction.
3 We derive that a 731 can be 1P, from the word 7° (see previous footnote # 2), therefore just as the 7° is next to the
person, similarly the 7%¥17 can be 719 (as a 7°) only if one is beside the 7%r1. This explains why by ©3 she needs to be
near the 2¥7 to acquire the v3. However the 131 besides having the power of 7° is not worse than a m°%w; it can be
considered as a (self-appointed) m°%w of the owner. The 17w does not need to be near the nown. Therefore by 7
where it is a m31 for the recipient (the owner of the 1¥m) and the rule is 1°192 Xow 078> 1°27, therefore the 1% can be
considered as the 7w of the owner, since it is for his benefit. However by a v3, where it is detrimental to her (she
loses her nn, etc.), and the rule is that 17192 X9X OTX? 1°2n X, therefore if she is near the 2% she is divorced ( ayun
7°) because the husband may place the v3 in her hand against her will; however the 1¥n cannot function as her 5w
(without her specific consent) since it is a 2177 for her.
*If o1 is not MmSw oyvy, the X3 should have merely said that the 7% is 71n»2 71 (even if he is not nearby)
because 1°192 R?w 07X 121. The fact that the X3 says that the 2% is 7P since it is Mm*2wn v7a R, indicates that the
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And since it is so that 7°37 is MYw avvun, how can we be 11233 on behalf of the
Jup, since there is no concept of N >w regarding a Jup as the X states in P9
TR NN —

NN continues to ask:
= 192999 191 1Y NN MNOY HHAY INNT JOPT ONN 1929INR) XIN 022919 T2y ININT N

And furthermore,’ this Jop is still a gentile, and X127 there states that a jup
who will eventually come into the category of nimw (when he becomes an adult)

can have 31397% 17957 (even when he is a 7up), however -
- 719Y 1799 13291 N1 IPaN SMNHY Y9aY sAN XYY D391 12

A gentile who will not come into the category of nw>w, does not have ;1927
even 339772, so how can we be 11217 for this Jvp 73 who is an 2"2¥ now?!

MooIN answers:
= 19297 N33 NPT NN JOPT ONN 1IPININTI 192971 1D 19337 993 XONT PNYY 1329Y AN

And it is the view of the >''9 that here too we are 1121 for the 33297% 9P as X1°29

stated there that a Ju» has 33397% 179927 -
- Ymnshy 5995 SN NN XY ©532919 T2)Y SNINT 23 IY IN)

And even though that the 1vp is still an 2'"12y (at this point), nevertheless he will
come NYYRY H9oY, for he is becoming a 7.

nooIn offers a different version of this answer:
- 719598 12ayY 93 INIWI %Y 1IN INIYWS AU NAT THAT 119 M) ON

7701 of the 1% is MW avon.
> We are doing this beneficial act for the 19 (the NM17°3) without his consent (since he is not a n¥y7 72). However the
only reason why we are 192 X7 71277 is because we assume that it is as if the 7517 made the 721 his m°%w for this
beneficial act. However the jup cannot make a m°%w, so how can we be 71911 for him.
® X121 there states; [13277a 7237 7% MOR] MIMSW 799 M°HT 23 Y AX WY qup. However '01n does not initially want to
entertain the thought that here it is a 7312771 M17°3, because of the difficulties involved as 1901 mentions later.
7 mooin is asking that even if we will say that a Jup has 132972 7°31 (see footnote # 6), there is still a difficulty.
¥ We derive the concept of m*Hw from the (73,7 [77P] 127»2) P105 which states anR 23 >0 19; the word o3 (‘also’)
includes that your m%w may also separate 7m0 for you. However since the 109 writes onk o3, we interpret this to
mean that the o3 (the m%w) must be similar to ank (the nown, the Jew) nN°72 °12 DomMbWw A% N°72 °12 ank 1, excluding
an 0"10¥ who is not a N°72 2.
? A 58w vp will come into Mm9w 995 automatically with the passage of time; however this 7»ani> X277 0P will not
automatically come into mn°?w 993 unless there is a M3 wvn.
1% mooIn rejects the reasoning in footnote # 9, for since we are capable of being 1 him, it is considered %937 *nx
mmow.
"' The x"avm (and others) explain this to mean that it is as if nAXD P2 N1 1M, as we say also NARD QWA 1771 102
(see 2,7V 7M.
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Or you may also say that since through this 79951 (of being 7 him), he
becomes a X, therefore regarding this particular 579957 of being 33 him; he
is considered a 913 Hxw»."

Mmoo asks:

= Bpwursn purnm Poxaws naa 759 13599 192941 93 0 5350 9NINN ON)
And if you will say; (since the 9P has 7271 only 712771) how can he be a =3
122977, and we permit him to marry a Jewish daughter and his 21799 are valid

PPTP? (when he becomes an adult) -
- Bx1n 092919 1239 1NN Y9 8D

Since 7707 3% he is an 2'"9y.

Mo0IN answers:
- (3,09 97 Mn) N2 NYNRNA MMINT NI 920PT 991 U

And one can say; that X117 27 agrees to the one who maintains in 739 T@NR7 P79 -
- ¥nyy 092 NN N 137 NPYY B3N 13 N YT

That there is power in the hands of the 2°%21 to uproot a 770 ruling even by a
7w 27 (doing something improper)'” —

Mmoo resolves a possible difficulty:
=19 ¥RWN RP NIYY 81 NN 1Y ¥IYN XP INN 7599 )

And when the X3 asked, ‘what is X117 21 teaching us’ with this 17 of %201

7"2 7"Y 1IN, the X773 could have answered that X117 27 is teaching us -
= VP390 29510 1N HYY ©IPA ANIND N 929 ‘”P)’b 020N 722 N VY

"2 The 1"X is limiting the power of 71 for this potential x>, It gives him the right of °>1 regarding n113 only, but
not for anything else; as opposed to the first answer of N0, that since he is MMPPw 237 *nX, therefore he has 71
1127771 regarding other issues as well (not only the n17°3).
"> A %W na is not permitted to marry an 2"1y.
' If this 73 will be wIpPn an WX, she will be considered married to this 73 (when in reality she is not married to him
Xn»x77). If another Jew will be wpn her (after the PwITP of the 73) she should be *1w% nwTIpn; however since we
formally accept this 1312772 M7 she will be living with her husband the 73 as an w°R nwX (to the second w7pn).
' He never consented to be a 73; and the concept of 731 applies only 112777, meaning that Xn>7X7» there is no N,
'® The onom have the power to be 9P a 7707 12 727 by a wyn X1 2w; preventing us from doing something the 770
commands us to do. For instance, we are not to blow 19w on nawa nvi? Hnw 1", We are passive - 7wyn X1 2w.
However there is a np12rn whether the °n5m can be 9w a nwyY 22 7707 12 727. In this case we are allowing a "3 to
marry a Jew (or allowing him to live with an X nwX [see footnote # 14]), nevertheless (according to one 7"n) the
o511 have the power to do so.
17 This is in a case (for instance) where one was 707 ¥ XnwI 12 AN W19, where RNIRTA it is valid gmn,
however the o251 ruled that it is an invalid 7170 (since they did not want that the 3775 should lose out by receiving
7XnY 79N which he cannot eat) and it reverts to 1°21 220 and he must be 2710 again 7wA . Here the 0%on were
P the RN™MIRT 72170,
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That the 2°»511 have the power to be a2 a 7w 2922 7707 32 927; however the
X n mentioned one'® of the two explanations what 7" teaches us.

Mmoo anticipates a difficulty:
- 537 913 %23 (0w 2,7 97 P41m) 9910 2 W92 1PP9INRT KM

And that which 727 states in the beginning of 990 j2 P75 regarding what was
stolen from a =3, where the 70 writes -

- 5NYX 19 YO BN PINN ITNY T8 ANN YN TN CYINY PN BN
If the person (73) has no relative; meaning if the 73 is an @R (an adult, who can
have children) you have to investigate regarding him, whether he has a relative
(if he bore children), before you give his returned 21 to a 3713 -

- 999 PANN TNY TP NNN N JOP YaN

However if the 72 is a minor you do not have to investigate him, etc., and you may
give his 21 to a 375 immediately (727 proves from this that a minor cannot bear children). The
question is since the 77N writes the word '@ X' to exclude a minor (a jup 73); this means that there
is a 77N 1 vP 73 However mooin just explained that the J0p 73 is only 1312777 (since there is no
mmowI 72231 for a Jop 2"oY).

mooIn responds:
= (BWI R,NY 97 N33 DAYN P9 1IPINNRTI NIIINIY HIIPNA NINN 1N JOP 9 NY HNOYN

We can find a 77077 12 J©p 93 by a pregnant woman who was 9%n1, as X219

states in 92w POB, that -
- 250 98 1PN N33 NMIY NP B39 NTAIY

‘A gentile pregnant woman who was 9%an: her son (with whom she was

pregnant during the M7°}) does not require immersion in a mp»’, this concludes the

statement of X27; NBOIN continues -
- Pyan N wrY 1999 Pamnn 19 1P 195 58 XD 99193 IRIYST 1NN 19 90 M)

18 a"5 teaches us that it is definitely a 127 for a Jup 73 to become a Jew.
' The rule is if one falsely denies owing money and he swears that he does not owe it; when he repents and decides
to pay what he owes, he must return the principal plus a wnin (which is actually a fourth of the principal) to the
person he owes (and in addition he is required to bring a m? 1 awR 127p). The 7N writes (7,1 [Xw1] 12713) that OX)
31 ORI WORY PR, the one who was owed died and he has no relatives, the wmm 13y is given to a 112. 727 expounds
this 109, how is it possible that he has no relatives; there is always some relative (albeit distant). We must conclude
that we are discussing a case where he owed a 73 money, and the 73 died. 727 continues as mentioned now in NvOIN.
* The word "wX' is seemingly superfluous; the 770 could have written X1 12 X oX1. The word wX teaches us
something.
' If we maintain X177 X 77 12w (that he is an integral part of his mother) then the 77°2u of the mother applies to the
127 as well since he is MK 7. Even if we maintain X7 X 77 2 12w (the fetus is considered as a separate entity),
nevertheless the 7%°2v is effective even for the 7121y and the mother’s body is not considered a m¥°xn, since (as the
X3 states there on the 2"y) that 71°n°27 11777, this is the manner in which he grows (see [also] w"w").
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And this child is a 7707 32 93 for he is a complete Jew, and he can have money

791057 3%, for instance that he inherited his mother (while he was still a 1vp), the word
X in the 100 teaches us -
- M 1YY PN ONN I PANY 191 1IRY PYUN 19 PRY 1YY 9TNY 7298 NNN IN)

that it is not necessary [for you] to investigate this, for he certainly has no
heirs, since he cannot bear children (as a minor) and his brothers from his
mother do not inherit him. Therefore this money owed is given to a 172.

mooin offers an alternate response to the initial question(s):
= NN 261):1‘1‘1}: 09 NJY 9D 5N NN N99T (3,x9 91 NYINN X222 190997 D990 9

And according to those text in »''2 that read, ‘but he (the 1vp) has 7%°2%’°, and

their texts do not read that he has 33397% 701, it is understood”’ -
= 71990 19 1991 19D 5INT 919919 8NY

For we can say that a jup PXw° has 73057 32 79937 -
- 2105 HXIYD 7Y 19%3WN 999INNY KT 1199 )0 02919 1IN

And regarding this minor 2", since he is coming 9*3n7» we consider him to
be a Jup YRW, who has 77107 11 7791 —

mooIn anticipates a difficulty:
= 99N 19 MNIY 1Y PRI MNPDY DYLN NN NITT 2) DY GN)

And even though that ;7921 is ny>w apun, and a v has no 7707 2 MIMHR, so
how can he have 7707 10 7>°017!

mooIn responds:
= 1NN YII9NY 111D NN NP 12 WIY 9272 Y59 9N

When does this apply that he has no n"in mnobw, only by something which may

by somewhat detrimental to the jvp, for instance to separate his 77190 on his
behalf (which a 2173 cannot do because JupP? MW °R), it is a 721 NXP -

2 See “Thinking it over’ # 1.
> mooin is responding to an anticipated difficulty; this Jop 73, must have money that someone stole from him;
seemingly as a Jup he cannot have any money 7707 11, for he has no n"in 731, See ‘Thinking it over’ # 2.
** A minor (even a day old infant) inherits. Therefore the jup 73 had assets, (from his deceased mother) which were
stolen from him, and are being returned after his death.
% This includes any brothers his mother may have born after the deceased jvp 73 was born (for inheritance is
established through the father’s side [and his natural father who fathered him as a " is not considered his legal
Jewish father]) and certainly not the brothers his bother born before the n17" who are totally unrelated to him.
% See footnote # 6
7 All the questions mentioned previously are resolved; we can be 9 him on account of 731 and he is a 3
XN (so there is no need to establish the P105 of WXY by a 77»anw NYWwn).
28 See footnote # 10, 11.
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— 4¥TYNY NN NN NNY I HNN NVNA NIVIAY NN NN NPIYY
For perhaps the 0P wanted to exempt the crop from 72170 by separating only
one kernel of wheat (which is sufficient n"7in) or perhaps (the other extreme) the

0P wanted to give more than the 7173 is being ™97 on his behalf, therefore in these cases
there is no JopP? MW -

SNYY 1Y W 19 N0 9990 MatY XaA YaN

However here by m7°x where it is a complete m27 for the jup, there is mmbw
even for a Jup (and therefore there is 0" 172°01).

SUMMARY

There is (either) 13127772 JuP? 731 and this applies even to an 7°°ana2 X277 0P 2™oY,
and it is effective even to be 97 a WYY 2P RN*°IRT, or there is 717911 NI°OW for a
XN™7IX7A WP by something which is a 713 N121 as MAis.

THINKING IT OVER

1. Mmoo proves from s'R27 statement 12°20 TIX PR 712 A7MANIY NN2wWn that the
child is a 9% 13.”° Seemingly all that X2 is saying is that he needs no additional
72°2v, but he does not say that the child is 7»na!”!

2. mooin explains how the Jup 73 has money.”” Seemingly this is irrelevant to our
discussion, this has to be explained in the X713 in 177710, which discusses 3 13
10P; why 1s 19010 involved in this?!1*?

¥ It may be necessary to say that when X1°21 stated (see footnote # 6) 727 1% X 712 1% MMHWT A"YX 1up, he means
that there is a difference whether it is merely a mn*>w where it is not a %3 n131 (where there is no Mm5w or 7571 for
the J0P) to a MP>W where it is a M3 NI2T — a 7°°07 (where 721 MMYY 799 DOR). V"3,
0 See footnote # 22.
! See "y " and 73 NIX 7"210.
32 See footnote # 23.
3 See R"wn.
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